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Multiple choice questions. [10]
Which of the following parameter is temperature depended’?
(a) Force (b) Pressure (c) Transistor {d) Volume
In the voltage divider network, the operating point of the transistor
can be made almost independent of
(@ w(b)B(c)o(da
The unit of hybrid parameter hois -
(a) Ohm (b) Volt (c) Siemens (d} Ampere
At which amplifier have higher input impedance and lower output
impedance, are called feedback amplifier.
(a) series voltage (b) shunt current (c) series current (d) shunt
voitage
In the negative feedback amplifier reduces the
(a) current (b) voltage (c) gain (d) power
The input impedance of the feedback amplifier is
(a) Zlf = V]”l (b) ng = INO (C) Zlf - Vl/lo ( ) Z:f = ]oNo ’
For generating a 1-KHz note, the most suitable circuit is caﬂed
oscillator.
(a) Hartely (b) Colpltts (c) Tuned (d) Wein bridge
Calculate the gain of a negative-feedback amplifier with an
internal gain is 400 and feedback factor is 0.04
(a) 24.5 (b) 25.5 (c) 23.5(d) 26.5
The multi-stage amplifiers are also called amplifiers.
{a) cascaded (b) many stage (c) several stage (d) more stage
Which crystal is to produce very high frequency (500kHz) in
Piezo electric effect?
(a) Quartz (b) Rochelle salts (c) Tourmaline (d) Tuned

(a) Fill in the blanks. [08]
The purpose of dc biasing of a , is to obtain a certain dc
collector current at a certain dc collector voltage. :
The h-parameters at a given operating point can be determined

from the characteristics of the transistor..

Feedback is the process of taking a part of signal and

feeding it back to the input circuit.
Any circuit that generates an alternating voltage is called an

) Cr-Te)
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(b)Answer the following sentences in form of true or false.

The biasing arrangement should be such as to make the emitter-
base junction reverse biased and the collector-base junction
forward biased. Under such biasing the transistor is said to be in
the active region. '

The power gain of the amplifier is the product of current gain and
voltage gain.

The negative feedback in amplifier increase both input and outpuyt
impedance,

The Barkhausen condition Ap<1 is satisfied, the oscillations will be
sustained.

Short answer type questions, (Attempt any Ten)

Define: Biasing Transistor.

Draw a diagram of thermal runway.

Draw the block diagram for a fixed-bias circuit

Draw only block diagram of a single-state transistor ampiifier,
Define: Voltage gain and Current gain,

Explain gain of multi-stage amplifier in dB.

Calculate the gain of 5 negative-feedback amplifier with an internal
gain, A = 200, and feedback factor B =1/20.

Draw the block diagram forseries ~ voltage and shunt voltage for
feedback networks,

Define: Increase bandwidth.

Give a brief classification of oscillafors.

Draw only the circuit diagram for Hartiey oscillator circuit,

The tuned-collector oscillator circuit used in the local oscillator of
a radio recsiver makes use of an LC-tuned circyit with L = 60 yH

- and C= 100 pF. Calculate the frequency of oscillation.

Answér.i"n 'detaifs of any fourrfrp‘m the foliowing questions.

(Each of 8 marks)

Draw and discuss the voltage divider biasing circuit in detail.

With the help of necessary figures explain how the suitable

location of Operating point can be selected in a CE transistor
circuit, | |
Explain the difference between dc load line and ac load fine. Why

is it necessary to draw ac load line for calculation voltage gain of |

an amplifier?
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Discuss the h- parameter equivalent circuit and calculate current
gain, voltage gain, power gain, input impedance and output
impedance, '
Discuss and derive the equation for voltage gain of hegative
feedback amplifier. Also calculate stabilization of gain,
Wiite a note on (i) RC coupled amplifier without bypass capacitor

and (i) Emitter follower.

Explain the principle of working. of the Wein bridge osciliator
circuit. Draw the phase-shift network that determines the
frequency of oscillations. .

Explain under what condition positive feedback amplifier can work
as an oscillator. Also explain the Barkhausen Criterion. Write a
note on Colpitts Oscillators. ‘
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